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Choose the correct answer and write along with its alphabet: 8x1=8
1. The Dual Government in Bengal was introduced by
a. Sir Eyre Coote c. Lord Dalhousie
b. Lord Wellesley d. Robert Clive

2. One of the main feature of the Regulating Act is

a. establishment of Supreme court

b. itled to the creation of a federal structure

c. formation of religion based electoral constituencies

d. bicameral Government system was introduced in provinces.
3. India followed Non-Aligned foreign policy. It means India

a. Joined the America bloc

b. Joined the Russian block

c. Maintained equal distance from both blocs
d. Followed a policy of expansionism

4. says, “Division of labour creates less skilled workers”.
a. Adam Smith c. Karl Marx
b. Plato d. Aristotle

5. Biggest state: Rajastan : : Smallest state:

a. Goa b. Assam c. Sikkim d. Andaman

6. The value of the total production of goods and services of a country during a year is

a. State income c. Per Capita Income
b. State and National income d. National Income
7. Businessman and Traders usually open this account in Bank.

a. Savings bank account c. Recurring Deposit Account
b. Current Account d. Fixed Deposit account
8. ‘Education is a public property’, stated by,
a. BRambedkar b. Manu Smriti c. Vyaghrapada
Gandhiji
Answer the following a sentence each: 8x1=8

9. Who is the Governor General introduced Doctrine of Lapse?
10. Why did the Bedas of Halagali fight against the British?



11,
125
13:
14,
15:
16.

What is the main aim of Corporate Strategy?

What is meant by “Social Stratification”?

Which is the largest physiographic division of India?

Recently the water storage capacity of our reserviours is reducing. Why?
Mention any two housing programmes.

An entrepreneur is a wealth of the country. How?

Answer the following in 2-3 sentences each: 8x2=16

17.
18.

19.

20.
21.
22.
23.
24,

Explain the reasons for First Anglo —Maratha War.
In spite of the border dispute between India and China, how have they strengthened
their relationship?
OR

How is communalism fatal to national unity? Explain
List out the major forms of Social stratification.

OR
Classify the following sectors into Organized and Unorganized sectors
a. Industries b. Vehicle repair c. Street Vendors d. Teacher
Mention the important climatic seasons of India.
Differentiate between Flood canal and Perennial canal.
How to achieve gender equality?
What are the achievements of KiranMazumdar Shah and EktaKapoor?
What made Europeans to discover new sea routes to India?

Answer the following questions in six sentences each: 9x3=27

25.

26.

27.

28.

29.

30.

31.
32.
33.

What are the major features of Regulating Act 17737
OR
Discuss the Surapura rebellion in brief.
Swami Vivekananda was a source of inspiration to youths. How?
“The first war of Indian Independence 1857 did not bring expected results”. Give
reasons.
Distinguish between the Eastern Ghats and the Western Ghats.
OR
What are the effects of soil erosion?
Explain briefly the significance of rural development.
OR
What do you mean by Underdevelopment? What are its causes?
“Post offices are undertaking various financial transactions too”. Justify
OR
“Entrepreneurship is a risk taking or adventures activity”. Prove it?
Unemployment has become a huge problem in India. Why?
Explain the characteristics of Organized Labour Sectors.
Explain the importance of Agriculture.



VI.

Answer the following questions in eight sentences each: 4x4=16

34,
35.

36.
37.

38.

How can we conserve forests?
Explain the revolt against British at Kittur.
OR
What are changes brought by Lord Cornwallis in Police system?
Write a note on BrahmoSamaj.
What is Communalism? What are the measures needed for the eradication of

Communalism?

Draw an outline map of India and locate the following: 1+4=
River Kaveri c. Highest gravity dam in India
The longest dam in India d. The important latitude that divides India into

almost to half
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